Schedule: A

Project No.: VI NH-9999(88)

Project Name: RETAINING WALLS, CROWN MOUNTAIN ROAD AND INTERSECTION OF ROUTES 35 & 40.

State: VI Opened at: St. Thomas, VI
County: ST. THOMAS By: Peggy Schaad
ST. THOMAS, USVI Date: 07/17/03

I certify that this Bid Tabulation accurate	I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.		
Signed:			
Title:	Date:		
Contract Awarded to:	Date:		

Contractor	Bid Amount	Responsive
Island Roads Corporation	1,063,900.00	
6501 Red Hook Plaza		
Suite 201		
Saint Thomas, VI 00802		
V.I. Cement & Building Product, INC	1,106,854.00	
P. O. Box 7368, Estate Mariend		
St. Thomas, VI 00801		
Tip Top Construction Company	1,128,346.95	
5064 Estate Mt. Welcome		
Christiansted, St. C, VI 00820		
Betteroads Asphalt Corporation	1,334,469.18	
P. O. Box 21420		
San Juan, PR 00928-1420		
Engineer's Estimate	940,000.00	

Date: 07/21/03

Schedule: A

Project No.: VI NH-9999(88)

Project Name: RETAINING WALLS, CROWN MOUNTAIN ROAD AND INTERSECTION OF ROUTES 35 & 40.

### BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Island Roads Corporation	1,063,900.00	1,063,900.00	
V.I. Cement & Building Product, INC	1,106,854.00	1,106,854.00	
Tip Top Construction Company	1,128,346.95	1,128,346.95	
Betteroads Asphalt Corporation	1,334,469.18	1,334,469.18	

The apparent low bidder is 13 % above the engineer's estimate.

Date: 07/21/03

Schedule: A

Project No.: VI NH-9999(88)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101	LPSM	Mobilization			
	Island Roads Corporatio	n	ALL	100,000.00	100,000.00
	V.I. Cement & Building I			118,000.00	118,000.00
	Tip Top Construction Co	ompany		116,058.00	116,058.00
	Betteroads Asphalt Corp	= -		78,328.18	78,328.18
	ENGINEER'S ESTIMATI	E		73,963.00	73,963.00
15201	LPSM	Construction survey and	staking		
	Island Roads Corporatio	n	ALL	5,000.00	5,000.00
	V.I. Cement & Building I	Product, INC		15,000.00	15,000.00
	Tip Top Construction Co	ompany		8,000.00	8,000.00
	Betteroads Asphalt Corp	poration		21,420.00	21,420.00
	ENGINEER'S ESTIMATI	E		38,000.00	38,000.00
15401	LPSM	Contractor testing			
	Island Roads Corporatio	n	ALL	10,000.00	10,000.00
	V.I. Cement & Building I			15,000.00	15,000.00
	Tip Top Construction Co	ompany		6,750.00	6,750.00
	Betteroads Asphalt Corp	poration		64,319.50	64,319.50
	ENGINEER'S ESTIMATI			19,000.00	19,000.00
15703	m	Silt fence			
	Island Roads Corporatio	n	200	15.00	3,000.00
	V.I. Cement & Building I			14.00	2,800.00
	Tip Top Construction Co	ompany		16.41	3,282.00
	Betteroads Asphalt Corp	poration		28.10	5,620.00
	ENGINEER'S ESTIMATI	Е		25.00	5,000.00
20301D	Each	Removal of utility poles	(Abandoned)		
	Island Roads Corporatio	n	2	500.00	1,000.00
	V.I. Cement & Building I	Product, INC		600.00	1,200.00
	Tip Top Construction Co	ompany		250.00	500.00
	Betteroads Asphalt Corp	poration		428.40	856.80
	ENGINEER'S ESTIMATI	Е		500.00	1,000.00
20302A	B m	Removal of structure and	d obstruction (Concrete	Paved Waterway)	
	Island Roads Corporatio	n	130	40.00	5,200.00
	V.I. Cement & Building I	Product, INC		36.50	4,745.00
	Tip Top Construction Co			19.15	2,489.50
	Betteroads Asphalt Corp			52.36	6,806.80
	ENGINEER'S ESTIMATI			100.00	13,000.00

Date: 07/21/03

Schedule: A

Project No.: VI NH-9999(88)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20302A1	B m	Removal of structure and	obstruction (Retaining W	all)	
	Island Roads Corporati		145	100.00	14,500.00
	V.I. Cement & Building			210.00	30,450.00
	Tip Top Construction C			87.52	12,690.40
	Betteroads Asphalt Cor	poration		142.80	20,706.00
	ENGINEER'S ESTIMAT	TE		65.00	9,425.00
20302W	m	Removal of guardrail			
	Island Roads Corporati	on	110	20.00	2,200.00
	V.I. Cement & Building	Product, INC		20.00	2,200.00
	Tip Top Construction C	Company		27.35	3,008.50
	Betteroads Asphalt Cor	poration		27.00	2,970.00
	ENGINEER'S ESTIMAT	TE		24.00	2,640.00
20307	m	Sawcutting pavement			
	Island Roads Corporati	on	235	30.00	7,050.00
	V.I. Cement & Building	Product, INC		16.00	3,760.00
	Tip Top Construction C	Company		13.13	3,085.55
	Betteroads Asphalt Con	poration		3.57	838.95
	ENGINEER'S ESTIMAT	TE .		8.00	1,880.00
20401	m3	Roadway excavation			
	Island Roads Corporati	on	170	50.00	8,500.00
	V.I. Cement & Building	Product, INC		40.00	6,800.00
	Tip Top Construction C	Company		45.78	7,782.60
	Betteroads Asphalt Cor	poration		47.60	8,092.00
	ENGINEER'S ESTIMAT	TE		35.00	5,950.00
20801	m3	Structure excavation			
	Island Roads Corporati	on	985	50.00	49,250.00
	V.I. Cement & Building	Product, INC		30.00	29,550.00
	Tip Top Construction C	Company		52.32	51,535.20
	Betteroads Asphalt Cor	poration		65.68	64,694.80
	ENGINEER'S ESTIMAT	TE		40.00	39,400.00
20803	m3	Structural backfill			
	Island Roads Corporati	on	740	100.00	74,000.00
	V.I. Cement & Building	Product, INC		25.60	18,944.00
	Tip Top Construction C	Company		88.29	65,334.60
	Betteroads Asphalt Con	poration		95.20	70,448.00
	ENGINEER'S ESTIMAT	ГЕ		35.00	25,900.00

Date: 07/21/03

Schedule: A

Project No.: VI NH-9999(88)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20804	LPSM	Shoring and bracing			
	Island Roads Corporation	-	ALL	60,000.00	60,000.00
	V.I. Cement & Building Pr			10,000.00	10,000.00
	Tip Top Construction Con	mpany		32,300.00	32,300.00
	Betteroads Asphalt Corpo	oration		43,202.95	43,202.95
	ENGINEER'S ESTIMATE			45,000.00	45,000.00
25803	m3	Reinforced concrete retain	ning wall		
	Island Roads Corporation	l	555	900.00	499,500.00
	V.I. Cement & Building Pr	roduct, INC		837.00	464,535.00
	Tip Top Construction Con	mpany		882.90	490,009.50
	Betteroads Asphalt Corpo	oration		895.70	497,113.50
	ENGINEER'S ESTIMATE			530.00	294,150.00
30102Z	N m2	Aggregate base, grading (	C or D, 150 mm depth		
	Island Roads Corporation	1	600	20.00	12,000.00
	V.I. Cement & Building Pr			12.50	7,500.00
	Tip Top Construction Con	mpany		83.72	50,232.00
	Betteroads Asphalt Corpo	oration		8.90	5,340.00
	ENGINEER'S ESTIMATE			21.00	12,600.00
40101B	C t	Hot asphalt concrete pave	ement, class B, grading	С	
	Island Roads Corporation	i i	120	200.00	24,000.00
	V.I. Cement & Building Pr	roduct, INC		270.00	32,400.00
	Tip Top Construction Con	mpany		247.95	29,754.00
	Betteroads Asphalt Corpo	oration		238.00	28,560.00
	ENGINEER'S ESTIMATE			175.00	21,000.00
40101BI	ED t	Hot asphalt concrete pave	ement, class B, grading	E, type 4 pavement smo	oothness
	Island Roads Corporation		210	200.00	42,000.00
	V.I. Cement & Building Pr			248.00	52,080.00
	Tip Top Construction Con	mpany		247.95	52,069.50
	Betteroads Asphalt Corpo	oration		238.00	49,980.00
	ENGINEER'S ESTIMATE			166.00	34,860.00
41202A	A 1	Tack coat, grade RS-1			
	Island Roads Corporation	<u>-</u>	630	5.00	3,150.00
	V.I. Cement & Building Pr			1.00	630.00
	Tip Top Construction Con			1.32	831.60
	Betteroads Asphalt Corpo	* *		1.19	749.70
	ENGINEER'S ESTIMATE			1.70	1,071.00

Date: 07/21/03

Schedule: A

Project No.: VI NH-9999(88)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
41301F	m2 A	Asphalt pavement milling, 50	mm depth		
	Island Roads Corporation		1,090	20.00	21,800.00
	V.I. Cement & Building Produc	et, INC		22.00	23,980.00
	Tip Top Construction Compar			29.90	32,591.00
	Betteroads Asphalt Corporation			11.90	12,971.00
	ENGINEER'S ESTIMATE			17.00	18,530.00
60801D	m2 F	Paved waterway, type 4			
	Island Roads Corporation		180	100.00	18,000.00
	V.I. Cement & Building Produc	et, INC		65.00	11,700.00
	Tip Top Construction Compar			65.78	11,840.40
	Betteroads Asphalt Corporation	on		98.20	17,676.00
	ENGINEER'S ESTIMATE			115.00	20,700.00
61701DI	BBA m (	Guardrail system G4, type 2,	class B (steel posts)		
	Island Roads Corporation	•	20	100.00	2,000.00
	V.I. Cement & Building Produc	et, INC		160.00	3,200.00
	Tip Top Construction Compar	ny		328.20	6,564.00
	Betteroads Asphalt Corporation	•		300.00	6,000.00
	ENGINEER'S ESTIMATE			140.00	2,800.00
61706	Each (	Connection to structure			
	Island Roads Corporation		1	500.00	500.00
	V.I. Cement & Building Produc	et, INC		1,000.00	1,000.00
	Tip Top Construction Compar			2,200.00	2,200.00
	Betteroads Asphalt Corporation	on		1,630.00	1,630.00
	ENGINEER'S ESTIMATE			750.00	750.00
63304C0	C m2 S	Signs, aluminum panels, type	e 3 sheeting		
	Island Roads Corporation		10	150.00	1,500.00
	V.I. Cement & Building Produc	et, INC		525.00	5,250.00
	Tip Top Construction Compar			598.00	5,980.00
	Betteroads Asphalt Corporation	on		375.00	3,750.00
	ENGINEER'S ESTIMATE			375.00	3,750.00
63308A	Each F	Removing and resetting sign			
	Island Roads Corporation		1	300.00	300.00
	V.I. Cement & Building Produc	et, INC		300.00	300.00
	Tip Top Construction Compar			1,200.00	1,200.00
	Betteroads Asphalt Corporation			375.00	375.00
	ENGINEER'S ESTIMATE			150.00	150.00

Date: 07/21/03

Schedule: A

Project No.: VI NH-9999(88)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63311A	A Each	Posts, steel U-channel			
	Island Roads Corporatio	n	25	50.00	1,250.00
	V.I. Cement & Building F			50.00	1,250.00
	Tip Top Construction Co			250.00	6,250.00
	Betteroads Asphalt Corp	= :		80.00	2,000.00
	ENGINEER'S ESTIMATI	3		125.00	3,125.00
63401H	A m	Pavement markings, type	H, solid		
	Island Roads Corporatio	n	960	10.00	9,600.00
	V.I. Cement & Building F	Product, INC		6.75	6,480.00
	Tip Top Construction Co	ompany		10.66	10,233.60
	Betteroads Asphalt Corp	oration		15.00	14,400.00
-	ENGINEER'S ESTIMATI	Ε		3.60	3,456.00
63501	LPSM	Temporary traffic control			
	Island Roads Corporatio	n	ALL	25,000.00	25,000.00
	V.I. Cement & Building F			100,000.00	100,000.00
	Tip Top Construction Co			23,500.00	23,500.00
	Betteroads Asphalt Corp	• •		158,850.00	158,850.00
	ENGINEER'S ESTIMATI			40,000.00	40,000.00
63524	Each	Variable message sign			
	Island Roads Corporatio		5	2,500.00	12,500.00
	V.I. Cement & Building F			16,000.00	80,000.00
	Tip Top Construction Co	ompany		3,500.00	17,500.00
	Betteroads Asphalt Corp	oration		16,000.00	80,000.00
	ENGINEER'S ESTIMATI	3		28,000.00	140,000.00
63529	Each	Temporary traffic signal s	ystem		
	Island Roads Corporatio		1	20,000.00	20,000.00
	V.I. Cement & Building F			20,000.00	20,000.00
	Tip Top Construction Co			29,975.00	29,975.00
	Betteroads Asphalt Corp			8,750.00	8,750.00
	ENGINEER'S ESTIMATI			30,000.00	30,000.00
63644	LPSM	Relocation and adjustmen	t of utilites (Electric &	Telephone Service to Ro	esidence)
	Island Roads Corporatio	·	ALL	5,000.00	5,000.00
	V.I. Cement & Building F			10,000.00	10,000.00
	Tip Top Construction Co			28,950.00	28,950.00
	Betteroads Asphalt Corp			12,625.00	12,625.00
	ENGINEER'S ESTIMATI			5,000.00	5,000.00

Date: 07/21/03

Schedule: A

Project No.: VI NH-9999(88)

Item No.		em Quantity cription	Unit Price	Amount
63701	Each Field office			
	Island Roads Corporation	1	20,000.00	20,000.00
	V.I. Cement & Building Product, INC		25,000.00	25,000.00
	Tip Top Construction Company		7,500.00	7,500.00
	Betteroads Asphalt Corporation		36,295.00	36,295.00
	ENGINEER'S ESTIMATE		18,500.00	18,500.00
63705	CTSM Long distar	nce calls		
	Island Roads Corporation	ALL	100.00	100.00
	V.I. Cement & Building Product, INC		100.00	100.00
	Tip Top Construction Company		100.00	100.00
	Betteroads Asphalt Corporation		100.00	100.00
	ENGINEER'S ESTIMATE		1,000.00	1,000.00
63801	Each Locate utili	ties		
	Island Roads Corporation	6	1,000.00	6,000.00
	V.I. Cement & Building Product, INC		500.00	3,000.00
	Tip Top Construction Company		1,375.00	8,250.00
	Betteroads Asphalt Corporation		1,500.00	9,000.00
	ENGINEER'S ESTIMATE		1,400.00	8,400.00
VI NH-	9999			
	Island Roads Corporation		0.00	0.00
	V.I. Cement & Building Product, INC		0.00	0.00
	Tip Top Construction Company		0.00	0.00
	Betteroads Asphalt Corporation		0.00	0.00
	ENGINEER'S ESTIMATE		0.00	0.00